M—EH AR 2=T X ARFHERS R—/Lb— A
HETR 5
05 07 09 13 14

HES EF 4 WIQ WIQ WIQ WIQ WIQ AFt JBEAL HIE
30 B ERE * % 2 9
31 TERE HE— x % * 3 8
32 EE K *k ok 4 7
33 miE 3K * 1 10
35 EHiE %k k% kkk kkk kx % 13 4 P
36 /N S *% k% *k% kkk 10 6 p
37  EE B %k kkk kkk kkk kkk 15 1 P
38 KT HF dkk kokk kkk kkk kkk |5 1 p
40 kB A *kk ddk kk dkkk kkx 15 ] p
41  [iE W sk % k% kkk kkk ]2 5 P
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N 7

[No. ®F K& 05 07 09 13 14 JEL|
2 B Waltz

3B E=E 4 4 6 6 6 6.0
36 | /NE A 5 6 5 4 2 5.0
37 EE B 6 1 1 1 1 1.0
38 KT A 1 3 3 3 5 3.0
40 k[ #®WA 2 2 2 2 3 2.0
41 BERE P 3 5 4 5 4 4.0
2 B Tango

3B E=IE 4 5 6 6 6 6.0
36 | /NE A 6 4 5 4 3 4.0
37 EE B 5 3 2 1 1 2.0
38 KT A 1 1 4 3 4 3.0
40 k[ #®WA 2 2 1 2 2 1.0
41 PERE Y= 3 6 3 5 5 5.0
£ H Quick Step

3B E=E 5 4 3 6 5 5.0
36 | /NE A 6 6 6 3 3 6.0
37 EE B 4 2 5 1 1 2.0
38 KT A 1 1 1 4 4 1.0
40 k[ #®WA 2 3 4 2 2 3.0
41 BERE Y= 3 5 2 5 6 4.0
B BAR TR

No. & F K 4 W T Q TR AR

3B E=E 6 6 5 17.0 6.0

36 | /NE A 5 4 6 15.0 5.0

37 EE B 1 2 2 5.0 1.0

38 KT A 3 3 1 7.0 3.0

40 k[ #®WA 2 1 3 6.0 2.0

41 | B W 4 5 4 13.0 4.0

No. ®EE B 4

05 W HE

07 g FHH

09 WE &

13 R E

14 HEH Ei
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Hof& RiAE

HEE ®F KA N—hF— 4 FiAE
30 gl gIr gl FEim T
31 TERE HE— AN HETR 5
32 EE K EH ZER HETR 5
33 S AT EH YER S
35 g o =F#E FEoNr
36 AN i ;AR Rk YA
37 R B At ZZ2E EARA
38 AT A7 i REUI) 3L
40 SR AYN g 3R 2 0A
41 [y =s R E BANT
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